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; 100kN/M%#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 1 000 ~ 697 88.39 | =hst | 0oo ~ 000|163 8.22 ZznLst 1.00 | 5.00 ~ 9.16 88.39 | =St | 5,00 ~ 9.16 | 1.63 8.22
2 100kN/m%Z#BZ5| 1.00 | 000 ~ 028| 104.16 |3mEBZB| — ~ — — — | 100kN/m%#Z25 | 1.00 | 1056 ~ 11.33| 104.16 |3mZi#BZ3 -~ - - -
ZznLst 1.00 | 0.28 ~ 807 100.00 | =04y | 000 ~ 807|215 10.87 znLst 1.00 |1 6.00 ~ 10.56 100.00 | =N | 5,00 ~ 11.33|2.156 10.87
P 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ B - ~ — — -
ZznLst 1.00 1 000 ~ 757 96.90 | =hst | 0oo ~ 757210 10.64 znLst 1.00 1 6.00 ~ 1012 96.90 | =nLS | 5,00 ~ 1012]|2.10 10.64
4 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#Z % — - ~ — — |3mZE#BZ B - ~ — — -
znLs 1.00 1 000 ~ 7.39 94.25 | =hst | 0oo ~ 0.00| 1.69 8.66 znLs 1.00 | 6.00 ~ 9.71 94.25 | =nLS | 5,00 ~ 9.71 | 1.69 8.66
5 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ B - ~ — — -
znLst 1.00 | 0.00 ~ b5.56 69.47 | =LY | 000 ~ 0.00)| 1.57 7.91 znLst 1.00 | 5.00 ~ 6.70 69.47 | FnS | 65,00 ~ 6.70 | 1.67 7.91
4 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/MiZ#Z % — - ~ — — |3mZE#BZ 3 - ~ — — -
ZznLst 1.00 |1 000 ~ 4.70 58.60 | Ths | 0.oo ~ 0.00| 1.64 8.27 ZznLst 1.00 | 5.00 ~ 5.00 5860 | =S | 5,00 ~ 5.00 | 1.64 8.27
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZD ~
Zh LS ~ ZnLst ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/mM%Z#BZ % ~ ImERZD ~
Zh LS ~ ZnLst ~ Zh s ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZD ~
Zh LS ~ ZnList ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZD ~
Zh LS ~ ZhnList ~ Zh s ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ S ~
ZhLs ~ ZhLst ~ ZhUs ~ ZhLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D ~
Zh LS ~ ZnLst ~ Zh LS ~ ZnList ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImEBZ S ~
Zh s ~ ZnLst ~ Zh LS ~ ZnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ 3ImEBZ S ~
ZhLs ~ ZhnLst ~ Zh LS ~ ZhnLst ~
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ 3ImEBZ S ~
zhLst ~ s ~ zhLst ~ s ~
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